M451/551 Quiz 4
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You do not need to simplify numerical expressions.

1. Suppose you pay 5 to buy a European (K = 100, ¢t = 1/2) Igut optlon Jon a gwen
security. Assuming a nominal annual 1nterestlrate of 6 pelcent compounded monthly,
find the present value of your net return from this investment if

(a) S(1/2) = 102;
(b) S(1/2) = 98.
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(Problem #2 is on the other side.)



2. At t=0, the price of a certain stock is S(0)=$50. At ¢ = 1, the price is either S(1)=$80
or 5(1)=$30. A certain option contract is worth $10 if the stock price is $80, and is
worth $0 if the stock price is $30. Assuming no arbitrage opportunities, and continu-
ously compounded interest of 5%, what is the price of the option at time t=07

let o  be F O e Cv\d j = ofF ovphoat,

tvwn - velge ok

B0 % + lﬂj'
%D')(,

o wayit o howe

T prd hwe option

cost = S0kt 'Cj
Valug. = 30% (4

F'}D

ﬁum = 3% E

~0. 68
3oyxe -
Y 3u€

-0,

<
\)

U

Soo tve (gt oy Tw

proserds e lue doller ¢

Bonito 3 =20 X
consichor

- gr-51C 0O

“Liag.

ot Yio f1r5;;=+a30) UULLI( lq

S0 +S ¥
0.05
LS50 tS C)

portfeliey @ tiomg 4 P8

¥ St) = 80

0 L0 © Jo .

=) SP%- "fﬁJ

5::{,»3 = vglye -cosl

tiwwp O
-b.08

4, b9 valwe= 30%E

we O
_ &pp+s xC @ b

e s

g e =0

-]

(:L‘ Sf: '-.‘f:h_g_ }(‘: "'?. {}

s wrf

-
W

)

=) Ze= S~ 20 €

T
lo - b€

e AT
i S T~

P i

et £ ¢ e
a‘nhm C{Uunﬁw -\ L AL

~0.05
J\'ﬂ fo - (oe ,;,”S i_l O

A U::—.S‘,)CJ

, obeng

Cp ,L 1\(\(\,{ O .

(6 loug:



